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(h) We hove 29 @20 1t = [[[of, @ [olon, @M1 = (A =4
By fakind ot e leftnst clomn, e wivmng mave s
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Thys, all wivnng moves < (27,37 1), (20, 1318) and (29,25, 9)
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W) ke 13 [[oh, [ 1oy, 19= @il ond 237 (ollle
i hove BRI B25 = 1ok @ [0 B [ty @1911]2 = /|7, = 24
By Wﬁf“f of the Z@fémﬂ?f sdlumn, the jm‘n”?‘fjf moes Gre
(13,919, 23), (13,17, 11,23) o (13,17,19,7).
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h) () The oﬂly femzfna[ ;Dm'{;’m 150 gnd ¢ 4
Gi) Toke ony /097‘?57""" pe . Thoe e o quses* (1) when p=o (mad$),
1L gon b maved P o ;/vﬁfﬁ‘m 4 where 9= 3, 4, &7 (me§), which
shovs ot 9475 () wien pz 2(mid §), ot @n be moksf {0 4
yo&i{im 9 where §.2 1,5, b 7(maAg), whih Z‘M/?/‘.?‘%%@U thet taf.
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(1) Toke onf psifin pe p. There axe fwi @se + (1) when Pz 0/ 1),
ot on be mald o 0 petin g o 4= 1,2, (il 1) which shas
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e am woke & wwe i edactly ome Uf He fome 1, 2,3 (while Pe
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() Lot e wimif mue 5 G fom Hhe puitin (114 [7) be 15,4 7).
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We hove 9(A.BE)= 90 OWH %)
ARV

10, @1,

[z

g

i) Lt i o e 5.5 1,1,7) ok e
o ehlly we of e thee Gones such flat 9,090z 0l = 1, 9, )=
b =3 oz = =2
fole ot since fhe moes o 4 gontan ¢, D, F 5 ot B 07 &
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[ oaf e 13 (il §7
Q4] = 2 ;A 4, Jomd)
) o 3= &7 ()fm/f}
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9. (o) Aaodinf o Hhe lectwres, e set of - st fzf lhe wdver| min Jore 7
oo {95050
ow et B0 S P2 (8,455, 1,10) 6 95085=0] 55 fl st
m)f p- fm‘{i% % the shriviase nirt jﬂ"’??’-
Chack. fhe 3 arditins f~yusi{zb715 oS Mvws.
() The gy fermowl psifim 75 (0,0,0,0,0) wned (0,9,0,00) ¢
i) Toke o }’m{i"" (61,555, % 580 € P. Then 61 @ G20 s = 0. Sufpse Yhe
st (4, 4,85, 9550 45 ot {0 18/ 41, 5 50, 55) e o ol one F
b, 45, 85 15 ch@ﬂjeﬂ( . Wrthoct b of j@zmhﬁ, we 1o assumé 2% 0y
$o% A8y, A5 Ts,
Mol f 30 5503 =0 Hhen Wy preelotim fpw,
30 A @5 = % 0% G = A=A |
which 15 @ méﬁﬁﬁ‘”ﬂ Thus & fﬁﬁz‘{?‘” n ot pwe 10 6 }:»p;iﬁ‘m on .
i) Swpyme (41, %043, 50,45) € P Then %1 @ % Gy £0. phen @/Ca@{z‘»j’ He
sum uﬁv’f Lhe %myﬂ eir}’é’fﬁw af 1 55,35, Jok ot fhe .[Eﬂm% ;ofuw"

with ol Yigmber af | . Ohose o fi/%’ Yol Y ijméﬂﬁ birery Ajit ‘,f
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7 hes o moe boo poion 7 f- |
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h) Frm(a), since 4= 109, , 9= 100], , 1= 1102, ne fgve
b g @zl y looly @00 = 1h =3
. P 1ech
By loky o the lffmst aflonn, e pinming meve T3, 11 Fom 1o,
jofo, fo [l 07 [0l ﬁ”w e,
s, oll wipry maes from dhe gt (46,6 1,147 o
(73, bt (4 410101 and ( &.4,9,12.13/.
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5. () List  the fust  Jew P~ postions of ame.:

o

[ J
((’),O) ((/2/ ; (5/ 5 ) , (¢, 7) (é/ o/, (‘g/ /5/ Z /5) f////ﬁ)'
(1L00) , (14 23) , -~ -~ - = =9 ()

Z o

(Y LLH;O/- b=tbo > ([n¢]4n)- [ugl - bo

= 1/\:60
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